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Specification Review
1. Stage 1000 Planning

1001. Define Draft Plan

4. Non Functional Requirements
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1.2. Stage 2030 Analysis
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2. Deposit
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1.4. Stage 2050/2060 Implementation & Unit Test
2051. Implement Class & Method Definitions
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8. input_POM
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2. Category—partition Testing

2.1. Test Cases
- TSL 2 (Error Constraints, Single Constraints, Property Constraints H&)

- User

Environments:

Program Mode:
Main Menu.
Withdraw.
Deposit.
Transfer.
View.

Parameters:

Account ID:
Invalid ID.
Correct ID.
Incorrect ID.

Receiver ID:
Invalid ID.
Correct ID.
Incorrect ID.

Bill:
50000.
10000.
5000.
1000.

Amount:
Invalid.
Non.

One less than Integer boundery.

More than One.
Over balance.
Over Integer boundary.

Password Input:
Invalid Password.
Correct Password.
Incorrect Password.

Return:
Click Return.

- Test Case 704 32 74

[single]

[property Withdraw]
[property Deposit]
[property Transfer]
[property View]

[error]

[error]

[error][if Transfer]
[if Transfer]
[error][if Transfer]

[if Deposit || Withdraw]
[if Deposit || Withdraw]
[if Deposit]
[if Deposit]

[error]

[error]

[if View]

[if Withdraw || Deposit]
[error][if Withdraw || Transfer]
[if IView]

[error]
[if IDeposit]
[error]

[single]



- Manager

Environment:
Program Mode:
Main Menu.
Manage ATM.

Parameters:

ID Input:
Invalid ID.
Correct ID.
Incorrect ID.

Password Input:
Invalid Password.
Correct Password.

Incorrect Password.

Select:
Click Deposit.
Click Withdraw.

Bill:
50000.
10000.
5000.
1000.

Amount:
Invalid.
Non.

One less than Integer boundery.

More than One.
Over balance.

Over Integer boundary.

Return:
Click Return.

-) Test Case 7H4= 32 74

[single]
[property Manage_ATM]

[error]
[if Manage_ATM]
[error]

[error]
[if Manage_ATM]
[error]

[property Deposit]
[property Withdraw]

[error]
[error]

[error][if Withdraw]

[single]



2.2. Testing Result

Test Suite | Test Case Latest Exec Result
User atm-5:Test Case 1 Passed
User atm-6:Test Case 2 Failed
User atm-7:Test Case 3 Failed
User atm-8:Test Case 4 Failed
User atm-9:Test Case 5 Failed
User atm-10:Test Case 6 Failed
User atm-11:Test Case 7 Passed
User atm-12:Test Case 8 Failed
User atm-13:Test Case 9 Failed
User atm-14:Test Case 10 Failed
User atm-15:Test Case 11 Passed
User atm-16:Test Case 12 Passed
User atm-17:Test Case 13 Passed
User atm-18:Test Case 14 Failed
User atm-19:Test Case 15 Passed
User atm-20:Test Case 16 Passed
User atm-21:Test Case 17 Failed
User atm-22:Test Case 18 Failed
User atm-23:Test Case 19 Failed
User atm-24:Test Case 20 Failed
User atm-25:Test Case 21 Failed
User atm-26:Test Case 22 Failed
User atm-27:Test Case 23 Failed
User atm-28:Test Case 24 Failed
User atm-29:Test Case 25 Failed
User atm-30:Test Case 26 Failed
User atm-31:Test Case 27 Failed
User atm-32:Test Case 28 Failed
User atm-33:Test Case 29 Failed
User atm-34:Test Case 30 Failed
User atm-39:Test Case 31 Failed
User atm-40:Test Case 32 Passed
Manager | atm-41:Test Case 1 Passed
Manager | atm-42:Test Case 2 Failed
Manager | atm-43:Test Case 3 Failed
Manager | atm-44:Test Case 4 Failed
Manager | atm-45:Test Case 5 Failed
Manager | atm-46:Test Case 6 Failed
Manager | atm-47:Test Case 7 Passed
Manager | atm-48:Test Case 8 Failed
Manager | atm-49:Test Case 9 Passed
Manager | atm-50:Test Case 10 Failed
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Manager | atm-51:Test Case 11 Failed
Manager | atm-52:Test Case 12 Failed
Manager | atm-53:Test Case 13 Failed
Manager | atm-54:Test Case 14 Failed
Manager | atm-55:Test Case 15 Failed
Manager | atm-56:Test Case 16 Passed
Manager | atm-57:Test Case 17 Failed
Manager | atm-58:Test Case 19 Passed
Manager | atm-59:Test Case 20 Failed
Manager | atm-60:Test Case 21 Failed
Manager | atm-61:Test Case 22 Passed
Manager | atm-62:Test Case 23 Passed
Manager | atm-63:Test Case 24 Failed
Manager | atm-64:Test Case 25 Passed
Manager | atm-65:Test Case 26 Passed
Manager | atm-66:Test Case 27 Failed
Manager | atm-67:Test Case 28 Passed
Manager | atm-68:Test Case 29 Passed
Manager | atm-69:Test Case 30 Failed
Manager | atm-70:Test Case 31 Passed
Manager | atm-71:Test Case 32 Passed
Manager | atm-72:Test Case 33 Failed

21/64 = 32% Pass
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3. Pairwise Testing

3.1. Testing Result

Test Suite | Test Case Latest Exec Result
User atm-73:[Pairwise]Test Casel Passed
User atm-74:[Pairwise]Test Case2 Failed
User atm-75:[Pairwise]Test Case3 Failed
User atm-76:[Pairwise]Test Case4 Passed
User atm-77:[Pairwise]Test Case5 Failed
User atm-78:[Pairwise]Test Case6 Failed
User atm-79:[Pairwise]Test Case7 Failed
User atm-80:[Pairwise]Test Case8 Failed
User atm-81:[Pairwise]Test Case9 Failed
User atm-82:[Pairwise]Test Casel0 Failed
User atm-83:[Pairwise]Test Casell Failed
User atm-84:[Pairwise]Test Casel2 Failed
User atm-85:[Pairwise]Test Casel3 Failed
User atm-86:[Pairwise]Test Casel4 Failed
Manager | atm-87:[Pairwise]Test Casel Failed
Manager | atm-88:[Pairwise]Test Case2 Passed
Manager | atm-89:[Pairwise]Test Case3 Failed
Manager | atm-90:[Pairwise]Test Case4 Passed
Manager | atm-91:[Pairwise]Test Case5 Failed
Manager | atm-92:[Pairwise]Test Caseb Failed
Manager | atm-93:[Pairwise]Test Case7 Failed
Manager | atm-94:[Pairwise]Test Case8 Failed
Manager | atm-95:[Pairwise]Test Case9 Failed
Manager | atm-96:[Pairwise]Test Casel0 Failed
Manager | atm-97:[Pairwise]Test Casell Failed
Manager | atm-98:[Pairwise]Test Casel2 Failed

4/26 = 15% Pass
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Brute Force Testing

4.1. Testing Result
Test Suite | Test Case Result
Manager | H2|X} Z2MA0M 53 ¢ 6f0=l /22 & =+ ATt Failed
Manager | BZIXF Z2MA0M 10 H BHE510] /22 & &+ ULt Failed
User HEILE” Z7| M Al '—f*7f M= A4 ECt Passed
User = 10 O|LHOf| Jackpot O] EIX[= X| StOISHTt Passed
Jackpotol HXIH siE User 0| 5 2HEE 71 QIESHH ATM 2 RE10{A 5 2H0| .
User " Failed
FELEZECE,
User 1 1 HE Jackpot O] HZICY, Failed
User Z2 AOI2t Jackpot O] E{ZICH, Failed
User Stte| EHCZ oy H E3E Al Jackpot S0l o4 & E[X| LA ST Failed
User DE U0 tigt 71719 882 1 = O|LHE O|R0{TIC. Failed
User Helie 182 OJLHO| O|F0{XO0F St Passed
User A7 B7| Tt stHE MISHOF St Passed
User M EOlM gENo=z £ & Tt Passed
User Ml oA gsdo=z ldst = ULt Failed
User Ml 04 gsdo=z £F8 4+ O Failed
User M E OlM HENo=2 Za|eh & QlOt. Passed
Eg Al 2 Y UM minus EE YHolH Oz HAZ GOZEX EAL, 2F HAX[IZt .
User i Failed
UZ Al ZU A A0 minus FSE YHotH OF A= G07X $EHL, 2F HAIXZt .
User I Failed
=5 |-
S Al 2N Y UM minus EE YHolH Oz HAZ GO7EX AL, 2F HAX[I .
User i Failed
Manager | ATM 217} 2¥<Z(50 BH) Ol5Hh &H ZIEE HAXIE EHstCt Failed

6/19 = 31% Pass

4.2. Failed Case Report

Test Suite | Test Case

7 Ol YUY #HQ| Oja AXH "X EHOIGHHR 2= 2F HIAIX|7t S ECH (Tt Z[CHZL HAM(O
Manager | xxisix) 12
User Jackpot O] HNE ATM 9| Tt10= BHat M7|X| &=Lt
User Z7| A8 & Jackpot O] ot H BT F0l= CHA| HEICH
User S35 Al AEA HIYHSE 285t LIME Jackpot O] BXl= 42 &4
User integer O|LHQ| F=~Zf0] OfLIZ}H, 1 = O|WE ¥1S0] QICHERSO| OFd giCh)
User 22 AXZE E32 53 0|4 Ui S Of, H&HC=E 2 MR0| HAl= 7t U
User 7 O YN He| 0|4 AXH "HUHS SQISINQ"2h= 27 HA|X[Z} S=ELC
User 3H 0|4 &2 St2i0 ot Y2 HPHSHE 22 HMX7t L2
User E2 Al minus ¥ 22 U0 UHotH oy Ho HUNUTIE AES 0| SIHSCE 02X He
User UZ Al minus = S FUCE UGHH T F42 HUZCE AEQ| RKO| AR, 02Xz ER
User &3 Al minus & US SUCE UHSIH ST Ho HOZTE AZQ ZAH0| SItett). 02Xz R
Manager | ATM X7} 50 2t O[st7t S0 OFF HIAX|= &E|X| =Lt
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5. Overall

5.1. System Test Result
- Category Partition Test
21/64 = 32% Pass
- Pairwise Test
4/26 = 15% Pass
- Brute Force Test
6/19 = 31% Pass

= Failed (77)
= Passed (32)
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